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Identify the shapes with an area of less than 60cm2
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Area of a parallelogram F F F

Discover

Move the triangle to the
other side and change
the parallelogram to @
rectangle. Then find the
area of the rectangle.

How can we find
the area of one tile?

Richard

o The floor is made from tiles that are parallelograms.
@) Use Richard’s method to find the area of one tile.
b) Max finds the area of one tile by multiplying 25 cm by 30 cm.
Emma finds the area of the same tile by multiplying 30 cm by 20 cm.

Who will find the correct area?

A parallelogram is o
quadilateral. Each
pair of opposite
sides is parallel.

@) Richard’s method changes the parallelogram
to a rectangle.

20 cm 20 cm

[ 30em 30cm |

The area of the parallelogram is equal to
the area of the rectangle.

The area of the parallelogram = 30 ¢m x 20 cm = 600 cm?.

So the area of one tile is 600 cm?.

differently, but get

20 cm 20 cm] K the same result.

[30em 30cm |
b) Max's method is 25 cm x 30 cm =750 cm?.

Max s incorrect.
Emma’s method is 30 cm x 20 cm = 600 cm?

Emma will find the correct area.

Area of a parallelogram = base x height

In a parallelogram, the perpendicular
distance from the base to the top is
S\ called the perpendicular height.
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Think together

© o find the area of each

0

parallelogram by changing it to
arectongle.

For i) use this formula to calculate the

area of each parallelogram:

Area = base x height

@) Area of parallelogram A

i) Area of the parallelogram =

area of the rectangle with

width () em and tength () em.

OO - Qe
C

et
area=(Jem T

ii) Area = base x height

) Area of parallelogram C
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Area of a Parallelogram

4. Using the formula a = b x h,fick the parallelograms below with an area between
80cm? and 90cm2.

A

B. C.
E‘ " ﬂm il
8cm

T2cm 9cm

5. Using the correct formula, match the parallelograms fo their comect areas.

A B. C.
v 7.5cm| 120mm
Lo o s
15cm 8cm

| s | e | e e

v o sce

6.The area of Ais an odd number; the areas of B and C are half the area of A, but are
identical fo one another.

What could the base and perpendicular height be for A, B and C? Explain your

answer.
Write your answers in cenfimetres.





